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Sr Questions Answers Choice

1 What, was the population of Muslims at the time of Independence?
A. 50 million
B. 70 million
C. 150 million
D. 100 million

2 When did the decision of division of indo. Pak subcontinent took place?
A. June 3, 1947
B. June 1, 1947
C. June 15, 1947
D. July 1,1947

3 Mozambique's 81 percent labour force is engaged in:
A. Primary economic activity
B. Secondary economic activity
C. Tertiary economic activity
D. Quinary economic activity

4 In backward countries, ratio of labour force engaged in agriculture is:
A. Up to 80 percent
B. Very high
C. 30 percent
D. Very small

5 Ratio of labour force engaged in tertiary economic activity is:
A. 40 percent
B. 31 percent
C. 50 percent
D. 70 percent

6 World's 20 percent labour force is engaged in:
A. Agriculture sector
B. Fishing
C. Trade
D. Industrial sector

7 In the world, ratio of labour force in agriculture is:
A. 35 percent
B. 45 percent
C. 49 percent
D. 25 percent

8 World's annual increase/ratio in labour force is:
A. 1.0 percent
B. 2.0 percent
C. 5.0 percent
D. 1.6 percent

9 According to 2000 statistics, labour force of the world was:
A. 3,802 million
B. 5,105 million
C. 4,615 million
D. 6,215 million

10 Ratio of labour force in agriculture sector in United Kingdom is:
A. 10 percent
B. 5 percent
C. 1.0 percent
D. 20 percent

11 Population of the world, up to June 2002 was:
A. 5.5 billion
B. 6 billion
C. 6.5 billion
D. 6.215 billion

12 In quinary economic activity, ratio of manpower is:
A. Very huge
B. Huge
C. Enough
D. Very very small

13 In backward countries, manpower ratio is:
A. Very huge
B. Huge
C. Very very huge
D. Very small

14 In industrial and economically developed countries, ratio of manpower:

A. Is very small

B. Is very very small
C. Is very huge
D. Is huge

15 Which age group of people is considered as manpower?
A. 10-40 years
B. 15-45 years
C. 15-50 years
D. 14-64 years




